APM 23GH1T term test 2
10 November, 2010

FAMILY NAME

GIVEN NAME(S)

STUDENT NUMBER

SIGNATURE

Instructions: No calculators or other aids allowed.

This test has 3 questions whose values are given immediately after the question num-
bers. Total marks = 40.

Write solutions in the spaces provided, using the backs of the pages if necessary.
(Suggestion: If you have to contimie a question, you may use the back of the previous
page.) Aspects of any question which are indicated in boldface will be regarded as crucial
during grading. Show your work.

The duration of this test is 50 minutes.
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1. (13 marks) Consider the following linear programming problem.

Minimize z = z1 + 22 + 23 subject to the constraints

o e D r m20m20520

(a) (2 marks) Put the problem in canonical form.

(b) (7 marks) Find all basic solutions (feasible and infeasible) of the canonical form
of the problem.

(c) (2 marks) Find all extreme points of the feasible region of the problem given above.
Note that the above problem has 3 decision variables.

(d)} (2 marks) Solve the problemn given above. Jr
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2. (13 marks) Solve the problem: Maximize z = —z;+222+323 subject to the constraints
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3. (14 marks) Solve the problem: Maximize z = 3z; + a9 - 2x3 subject to the constraints
Ty + ®y -+ 2my = 5

ry — &2 - zg < 1 y 1 2 0,@2 2 0,23 > 0,

P - s ’g»ﬁ,f,! y an ji \. R
szwya~--sz_, I ol bo.cug () ; L f M.mﬁ, |

...... P
Xy % Xy e e T

Kfs | | ) O I O Sﬂ’

REI e A T OO ey B A B Y
273 | O O '-6

el R S B
~2 ! H 0 =
I}fwwe | } Teks locud, @j

: e By
X, 5 ~ 3 O

3

phene ) Tekiloca (1) Pheoe 2 Tk lean@)
R RPN ST ST N
. ;

s X0 0

M~
i
.

£

a £ L

’ . e‘;,wi&'}'(w@'
A ———

Q im s

—— s
H
Py )
!

-

A X0 |

Page 4 of 4

i,

L Bt o
\_,-f'\/lé

SSIE I IV P

ary Kyl
O L
2| ol
. e lﬂ
) [ - 2
: O !

. -(-}5.}’@,{;}44{& ﬁ._:



